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8.2 Calculations- The Relationship between Kw, Ka and Kb
Derive auto ionization of water From Bronsted- Lowry Theory :

2 :00a> 2 Hz0%ag) # Ofligyy Corliipr She g s

Je.0 1 SR S
Kw= always must equal= L1 Jas > JLof an> 1= rox0 e
Ka and Kb relationship ¥ s = _/i”‘:_}.{?_—- (aeidh flocear )
A neutral solution, relationship between [H" g ] = [OH (o ]
An oidle sglution o azjj)):OH I
A basic solution Loy ';a'?/) i\ o [ﬂt] - |
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pH and pOH

Define: pH (p. 502) ; pOH (p. 502)

Given pH= 6.8 ; find pOH
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poH = 14~z <
This supports pH + pOH = -log K,
Lob - JCHtI=Kw -,
Use pH to determine the formula for H' concentration:
Convert pH = -log [H'] pOH:= - log [OH']
- Lpt) o= Lon7].

Do and apply: p. 508, # 1-4
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